CTHbIE YNPaXHEeHUA :

Hanaurte sHavyeHUA gaHHbIX
bIPaXXeHUN :

9a5e 4 06
n2e+5an3e= 70n8e-302e=

OAM 5 cm
M2CM+5A0M3CM=4 qm 6 cm

ScM-3aOM2CM=




,/ \‘
A‘ 1ale 1

L 10+ 1 p

1




Ha3BaHus
yucen oo 20

1 knacc Ypok-29




3agauum :

1) No3HakoMUTLCA C Ha3BaHUEM
yucersn BTOpPOro AecATKa;

2) 3aKpenuTb YMeHUe pellaTtb
TEKCTOBbIE 3a4aun.




Ne 1

=1a7€=17=10+7

ceMHaguaTb

=1n8e=18=10+8

BOCeMHaAUuaThb

=109 =19=10+9

ol dla

aeBATHagUaTh

®
=2n0e =20 = 10 + 10

aBaguaThb




BY3HAYHbI




10+ 4

HbIX
:n:rvj




14=10+4

2=2+ 10




10+ 6 =16
6+10=10
16-10=6
16-6=10

10+4=14
4+10=14
14-10=4
14-4=10



P c . C PUCOM )

kadgaTron 6.

0+6=16(n.)




Ne 6

9 10 11 12 13 14 15 16 17




1 | 2 urpaiot
BblQkNN BbI§ib1NN ?K.

18-8-6=4 (K.)
OTBeT: 4 KOMaHAObI.



Monoaubli !




